Construction division. Advice for giving credit to contractors/suppliers.

Sl. No. – site bills register		400		Date - site bills Register			22/1	0/2020	
Company Name:	MP	L		Site			MFP		
Name of Contractor		nishna							
Nature of work			2	1					
Work done	From	ing & S Date	caffol	ding	T	o Date	21.10	2020.	
Sl. Villa/Flat/block	c no. Q	ty.	Rate	.10.2	Units	Amo		Contractors	
1. Ablock-South S	3 det/w	શાહ	5/	-	St	10	560/_	om no	
seam xa folkin	2280		1	· · · ·					
	4 hacking & Scaffolding week 1 3 South sole Mangale			5/-	46		+0/-		
					St		00/-		
6. arch R/D Dava				5- 4			1.6/-		
heams hacks		700	16	•	30	35	00/-		
8. Scallesting 4									
9. 1									
10.		1	-			+			
11.	Total:	į.				145	12.60		
Bill required	YES	□ NO.		GST t	oill requi	red	12.60_ YES	NO.	
Measurement &	v. Acqui				irement	&	Enclos		
PO/WO no.	estimate sheet:				te sheet		Not er		
Remarks :				ru/W	O date:				
Remarks :									
							2010		
Approved by Project	Manager	Appro	ved by	Desig	n Team	Apr	proved by	M D	
Date: 22/10/	2020	Date:				Dat			
Sign: 7.1	1	Sign:				Sign			
Notes: 1. This advice must be	be sent within					Sig	u.		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheers are not required for turnkey jobs where guideline rates are clearly given.

Contra ctor siem - K. S.) = 5

Topic:	South side R/W wall& c block north &east Revised R/w wall&gate R/w walls scaff	w wall&gate R/w v	alls scaffolding work		Prepared by: sobhanbabu	sobhant
company:	Mppl		6		Date:	21-Oct-20
Project:	May Flower Platinum					
Contractor Name:	K.Krishna.					
S.No. Item Head		Quantity	Units	Rate	Amount	Grand Total
1 Ablock-S	Ablock-South side R/W wall beam scaffolding work.					
	single scaffolding work.	2112.00	sft	5.00	10560.00	
2 c block-	c block- north East side R/W wall hacking&scaffolding work.	7				
	R/W wall hacking	2280.00	sft	0.50	1140.00	
	sigle scaffolding work outer side	400.00	sft	5.00	2000.00	
3 South si	South side Maingate Arch R/W wall paragola beams hacking &scaffolding wor					
	R/w wall paragola beams hacking work	625.19	sft	0.50	312.60	
	R/w wall single scaffolding work	700.00	sft	5.00	3500.00	
				Total Amount		17512.60
Total A	Total Amount in words - SeventeeThousand five Hundred and twelve only					

2 c block- nor 3 South side	6	6	3							4	1 Abook-Sou	S.No Item Head		0000000	Contractor Name	Project	сопрапу	opc		MEASUREMENT SHEET	
sigle scaffolding work outer side South side Maingate Arch R/W wall paragola beams hacking &scaffolding work outer side paragola Beam B1(15°X24") Beam B2(9°X15")	hacking work sigle scaffolding work outer side de Maingate Arch R/W wall paragola beams hacking &scaffolding a Beam B1(15)(24")	hacking work sigle scaffolding work outer side de Maingate Arch RW wall paragola beams hacking &scaffolding la Beam B1(15"X24")	hacking work sigle scaffolding work outer side de Maingate Arch RW wall paragola beams hacking &scaffolding	hacking work sigle scaffolding work outer side	hacking work	hacking work		c block- north East side RW wall hacking&scaffolding work	A comment of the comm	single scaffolding work	Ablock-South side RW wall beam scaffolding work	ead Item Description			大大されている。	May Flower Platinum	Mopi	South side K/W wall& c block north & east Keyised K/W wall&gate K/W walls scantonand from	1	ET	
						20.00	114.00			176.00		Leigni	anath	A				AN MAILOCEAC WA	St Il A D h.		
3		2.75	4.50			1.86	1,00	3		1.00		***************************************	Width	æ				Walls scarroland we	malle scaffolding we		
20.00		T.00	100	100		20.00	10.00	1000		12.00	3		Height	c				15	2		
	1	1	14	2		-	-	2			-	1	nos	0		+	Cara	2	Prepared by:		
THE REAL PROPERTY AND ADDRESS OF THE PARTY AND	700.00		250.25	374.94		400.00	333	2280.00			211200		Quantity	п			11.00	21-04-20	Prepared by: sobhanbabu		
	Sit		SR	Sit		311	•	s≢		9	4		Units	1	,						
		S. C. Control of the											Total Head		0						

Bill for Consumable

K.Krishna. Mallapur, Malkajgiri. Hyderabad

Date:21.10.2020

In favor of:

MPL Project / Site: MFP

Location:

82/1. Mallapur

Type of Work: South side R/w walL beam& c block north &east Revised R/w wall&gate

R/w walls scaffolding&hacking work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done:South side R/w wall beam& c block north &east Revised R/w wall&gate R/w walls scaffolding&hacking work Total amount =Rs.17,512=00 from date: 07.10.2020 to 21.10.2020	Rs-3,502=00

Amount in words: Three thousand five hundrad and two only.

Sign:		
Orgin.		

Bill for Equipment Allowance

K Krishna Mallapur,Malkajgiri Hyderabad

Date:21.10.20

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur

Type of Work: South side R/w wall beam& c block north &east Revised R/w wall &gate

R/w walls scaffolding&hacking work

Towards:

Allowance for Equipment.

S No.	Description	Amount
1.	Brief description of work done:South side R/w wall beam& c block north &east Revised R/w wall&gate R/w walls scaffolding&hacking work Total amount =Rs.17,512=00 from date: 07.10.2020 to 20.10.2020	Rs. 7,004=00

Amount in words :Seven Thousand four only.

Sion:		
Digii.		

Bill for Labour charges

K.Krishna. Mallapur, Malkajgiri. Hyderabad

Date: 21.10.2020

In favor of:

MPL

Project / Site:

MFP

Location:

82/1. Mallapur.

Type of Work: South side R/W wall beam& c block north &east Revised R/w wall&gate

R/w walls scaffolding &hacking work.

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: South side R/W wall beam &c block north &east Revised R/w wall&gate R/w walls hacking & scaffolding work Total amount =Rs.17,512=00 from date: 07.10.2020 to 20.10.2020	Rs.7,004=00

Amount in words: Seven Thousand four only.

Ciam:	
Sign:	
D.B	